College Algebra — Joysheet 1 Name: Sa“"é I?C&:::m
MAT 140, Fall 2020 — D. Ivansié Covers: JIT 6, 7, 12-14, 17 Show all

your work!

Write interval notation and sketch on the number line,

1. (3pts) {z|r < -2} 2. (3pta) {z|0 <z <5}
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Solve the equations.

3 3. (3pts) 3z —T=5z+2 |-+;l 4. (dpts) 4(2z—4)—z=5-3(z+1)
2x =549 |-« K==k =S~ 3x~3
LG o | S U-lp = 2=3x | +Ib
X =— =
Z [0x = 1€
x= 12
Simplify and write in standard form: [ BENY

r-—: 5. (4pts) (322 +4)(z —2) — 1*(2z — 4) =
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= X0 1 4x -8

6. (dpts) (2z—3)(@?+9z—8) = 24 Ify ~ lbx =3x"=2x +f

3 2
, = 2x 4 [S¢ ~43x+24
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Simplify and write the answer so all Exp-.:ments are positive:
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9. (3pts) (3s%2)3s% = 33(5")3(75 5 1297 t"}“‘f
10. (pts) (s~ = S 6’6
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11. (7pts)

Factor the following.

12. (4pts) 22+ 5z — 14 =
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13. (4pts) 22 — 20z —44 =
(x~20) (::(#-2,)
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Solve the equations.

14. (6pts) ©?—z=z+8 |~x-38 15. (6pts) 222
X -2x-§=0 K’L—‘ o
(x-4)(x+2) =0 ( x~8)(x+
A-{=0 er X+L=0 x-§=0

x=%"2 X=
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